A DEEP LEARNING APPROACH FOR CANCER DETECTION AND RELEVANT GENE IDENTIFICATION

PADIDEH DANAEE*, REZA GHAEINI

School of Electrical Engineering and Computer Science, Oregon State University, Corvallis, OR 97330, USA *E-mail: danaeep@oregonstate.edu and ghaeinim@oregonstate.edu

DAVID A. HENDRIX

School of Electrical Engineering and Computer Science, Department of Biochemistry and Biophysics, Oregon State University, Corvallis, OR 97330, USA E-mail: david.hendrix@oregonstate.edu

Cancer detection from gene expression data continues to pose a challenge due to the high dimensionality and complexity of these data. After decades of research there is still uncertainty in the clinical diagnosis of cancer and the identification of tumor-specific markers. Here we present a deep learning approach to cancer detection, and to the identification of genes critical for the diagnosis of breast cancer. First, we used Stacked Denoising Autoencoder (SDAE) to deeply extract functional features from high dimensional gene expression profiles. Next, we evaluated the performance of the extracted representation through supervised classification models to verify the usefulness of the new features in cancer detection. Lastly, we identified a set of highly interactive genes by analyzing the SDAE connectivity matrices. Our results and analysis illustrate that these highly interactive genes could be useful cancer biomarkers for the detection of breast cancer that deserve further studies.

Keywords: Cancer Detection; RNA-seq Expression; Deep Learning; Dimensionality Reduction; Stacked Denoising Autoencoder; Classification.

1. Introduction

The analysis of gene expression data has the potential to lead to significant biological discoveries. Much of the work on the identification of differentially expressed genes has focused on the most significant changes, and may not allow recognition of more subtle patterns in the data.¹⁻⁶ Tremendous potential exists for computational methods to analyze these data for the discovery of gene regulatory targets, disease diagnosis and drug development.⁷⁻⁹ However, the high dimension and noise associated with these data presents a challenge for these tasks. Moreover, the mismatch between the large number of genes and typically small number of samples presents the challenge of a "dimensionality curse". Multiple algorithms have been used to distinguish normal cells from abnormal cells using gene expression.^{10–13} Although there has been a lot of research into cancer detection from gene expression data, there remains a critical need to improve accuracy, and to identify genes that play important roles in cancer.

Machine learning methods for dimensionality reduction and classification of gene expression data have achieved some success, but there are limitations in the interpretation of the most significant signals for classification purposes.^{14,15} Recently, there have been efforts to use single-layer, nonlinear dimensionality reduction techniques to classify samples based on gene expression data.¹⁶ In similar studies of computer vision, unsupervised deep learning methods have been successfully applied to extract information from high dimensional image data.¹⁷ Similarly, one can extract the meaningful part of the expression data by applying such techniques, thereby enabling identification of specific subsets of genes that are useful for biologists and physicians, with the potential to inform therapeutic strategies.

In this work, we used stacked denoising autoencoders (SDAE) to transform highdimensional, noisy gene expression data to a lower dimensional, meaningful representation.¹⁸ We then used the new representations to classify breast cancer samples from the healthy control samples. We used different machine learning (ML) architectures to observe how the new compact features can be effective for a classification task and allow the evaluation of the performance of different models. Finally, we analyzed the lower-dimensional representations by mapping back to the original data to discover highly relevant genes that could play critical roles and serve as clinical biomarkers for cancer diagnosis. The performance of these methods affirm that SDAEs could be applied to cancer detection in order to improve the classification performance, extract both linear and nonlinear relationships in the data, and perhaps more important, to extract a subset of relevant genes from deep models as a set of potential cancer biomarkers. The identification of these relevant genes deserves further analysis as it potentially can improve methods for cancer diagnosis and treatment.

2. Background

Classification and clustering of gene expression in the form of microarray or RNA-seq data are well studied. There are various approaches for the classification of cancer cells and healthy cells using gene expression profiles and supervised learning models. The self-organizing map (SOM) was used to analyze leukemia cancer cells.¹⁹ A support vector machine (SVM) with a dot product kernel has been applied to the diagnosis of ovarian, leukemia, and colon cancers.¹¹ SVMs with nonlinear kernels (polynomial and Gaussian) were also used for classification of breast cancer tissues from microarray data.¹⁰

Unsupervised learning techniques are capable of finding global patterns in gene expression data. Gene clustering represents various groups of similar genes based on similar expression patterns. Hierarchical clustering and maximal margin linear programming are examples of this learning and they have been used to classify colon cancer cells.^{20,21} K-nearest neighbors (KNN) unsupervised learning also has been applied to breast cancer data.¹²

Due to the large number of genes, high amount of noise in the gene expression data, and also the complexity of biological networks, there is a need to deeply analyze the raw data and exploit the important subsets of genes. Regarding this matter, other techniques such as principal component analysis (PCA) have been proposed for dimensionality reduction of expression profiles to aid clustering of the relevant genes in a context of expression profiles.²² PCA uses an orthogonal transformation to map high dimensional data to linearly uncorrelated components.²³ However, PCA reduces the dimensionality of the data linearly and it may not extract some nonlinear relationships of the data.²⁴ In contrast, other approaches such as kernel PCA (KPCA) may be capable of uncovering these nonlinear relationships.²⁵

Similarly, researchers have applied PCA to a set of combined genes of 13 data sets to obtain the linear representation of the gene expression and then apply a autoencoder to capture nonlinear relationships.²⁶ Recently, a denoising autoencoder has been applied to extract a feature set from breast cancer data.¹⁶ Using a single autoencoder may not extract all the useful representations from the noisy, complex, and high-dimensional expression data. However, by reducing the dimensionality incrementally, the multi-layered architecture of an SDAE may extract meaningful patterns in these data with reduced loss of information.²⁷

3. Materials and Methods

We have applied a deep learning approach that extracts the important gene expression relationships using SDAE. After training the SDAE, we selected a layer that has both low-dimension and low validation error compared to other encoder stacks using a validation data set independent of both our training and test set.²⁸ As a result, we selected an SDAE with four layers of dimensions of 15,000, 10,000, 2,000, and 500. Consequently we used the selected layer as input features to the classification algorithms. The goal of our model is extracting a mapping that possibly decodes the original data as closely as possible without losing significant gene patterns.

We evaluated our approach for feature selection by feeding the SDAE-encoded features to a shallow artificial neural network $(ANN)^{29}$ and an SVM model.³⁰ Furthermore, we applied a similar approach with PCA and KPCA as a comparison.

Lastly, we used the SDAE weights from each layer to extract genes with strongly propagated influence on the reduced-dimension SDAE-encoding. These selected "deeply connected genes" (DCGs) are further tested and analyzed for pathway and Gene Ontology (GO) enrichment. The results from our analysis showed that in fact our approach can reveal a set of biomarkers for the purpose of cancer diagnosis. The details of our method are discussed in the following subsections, and the work-flow of our approach is shown in Fig 1.

3.1. Gene Expression Data

For our analysis, we analyzed RNA-seq expression data from The Cancer Genome Atlas (TCGA) database for both tumor and healthy breast samples.³¹ These data consist of 1097 breast cancer samples, and 113 healthy samples. To overcome the class imbalance of the data, we used synthetic minority over-sampling technique (SMOTE) to transform data into a more balanced representation for pre-training.³² We used the imbalanced-learn package for this transformation of the training data.³³ Furthermore, we removed all genes that had zero expression across all samples.

3.2. Dimensionality Reduction Using Stacked Denoising Autoencoder

An autoencoder (AE) is a feedforward neural network that produces the output layer as close as possible to its input layer using a lower dimensional representation (hidden layer). The autoencoder consists of an encoder and a decoder. The encoder is a nonlinear function, like a sigmoid, applied to an affine mapping of the input layer, which can be expressed as $f_{\theta}(X) = \sigma(Wx+b)$ with parameters $\theta = \{W, b\}$. The matrix W is of dimensions $d' \times d$ to go from a larger dimension of gene expression data d to a lower dimensional encoding corresponding to d'. The bias vector b is of dimension d'. This input layer encodes the data to generate a



Fig. 1. The pipeline representing the stacked denoising autoencoder (SDAE) model for breast cancer classification and the process of biomarkers extraction.

hidden or latent layer. The decoder takes the hidden representations from the previous layer and decodes the data as closely as possible to the original inputs, and can be expressed as $z = g_{\theta'}(y) = \sigma(W'y + b')$. In our implementation, we imposed tied weights, with $W' = W^T$. We can refer to the weight matrix W and bias b as $\theta = \{W, b\}$ and similarly $\theta' = \{W', b'\}$.

A SDAE can be constructed as a series of AE mappings with parameters $\theta_1, \theta_2, ..., \theta_n$ and the addition of noise to prevent overfitting.¹⁸ In order to get a good representation for each layer, we maximize the information gain between the input layer (modeled as a random variable X from an unknown distribution q(X)) and its higher level stochastic representation (random variable Y from a known distribution $p(X|Y;\theta')$). For layer *i*, we then learned a set of parameters θ_i and θ'_i from a known distribution p where $q(Y|X) = p(Y|X;\theta_i)$ and also $q(X|Y) = p(X|Y;\theta'_i)$ that maximize the mutual information.¹⁸

This maximization problem corresponds to minimizing the reconstruction error of the input layer using hidden representation. In this construction, the hidden layer contains the compressed information of the data by ignoring useless and noisy features. In fact, the autoencoder extracts a set of new representations which encompass the complex relationships between input variables. The reconstruction error of the input layer using this new representation is non-zero, but can be minimized. In practice, the weights of the model are learned through the stochastic gradient descent (SGD) algorithm.^{34,35}

Autoencoders extract both linear and nonlinear relationships inherent in the input data, making them powerful and versatile. The encoder of the SDAE decreases the dimensionality of the gene expression data stack-by-stack, which leads to reduced loss of information compared to reducing the dimension in one step.²⁷ In contrast, the decoder increases the dimensionality to eventually achieve the full reconstruction of the original input as close as possible. In this procedure, the output of one layer is the input to the next layer. For this implementation, we used the Keras library with Theano backend running on an Nvidia Tesla K80 GPU.³⁶ Although it is difficult to estimate the time complexity of the deep architecture of the SDAE, with batch training and highly parallelizable implementation on GPUs, training takes a few minutes and testing of a sample is performed in a few seconds.

It is proven in practice that pre-training the parameters in a deep architecture leads to a better generalization on a specific task of interest.¹⁸ Greedy layer-wise pre-training is an unsupervised approach that helps the model initialize the parameters near a good local minimum and convert the problem to a better form of optimization.²⁷ Therefore, we considered the pre-training approach as supposed to achieve smoother convergence and higher overall performance in cancer classification. After starting with the initial parameters resulting from the pre-training phase, we used supervised fine-tuning on the full training set to update the parameters.

To avoid overfitting in the learning phase (both pre-training and fine-tuning) of the SDAE, we utilized a dropout regularization factor, which is a method of randomly excluding fractions of hidden units in the training procedure by setting them to zero. This method prevents nodes from co-adapting too much and consequently avoids overfitting.³⁷ For the same purpose, we provided partially corrupted input values to the SDAE (denoising). The SDAE is robust, and its accuracy does not change upon introducing noise at a low rate. In fact, SDAE with denoising and dropout can find a better representation from the noisy data. Fig 2 shows the SDAE encoded, decoded, and denoised representations on the subset of genes.

3.3. Differentially Expressed Genes

We used significantly differentially expressed genes as a comparison to our SDAE features for cancer classification. First, we computed the log fold change comparing the median expression



Fig. 2. SDAE representation using the enriched genes in the TCGA breast cancer. In this depiction for illustrative purposes, the top 500 genes with median expression across cancer samples enriched above health samples, and the top 500 genes with reduced median expression across cancer samples is shown.

in cancer tissue samples to that of healthy tissue samples. We then computed a two-tailed p-value using a Gaussian fit, followed by a Benjamini-Hochberg (BH) correction.³⁸ We identified two sets of differentially expressed genes. The first, DIFFEXP0.05 was the 206 genes, 98 up-regulated and 118 down-regulated, that were significant at an FDR of 0.05. The second set, DIFFEXP500, contains the top 500 most significant differentially expressed genes (the same dimension as the SDAE features) using the same 2-tailed p-values, containing 244 up-regulated and 256 down-regulated genes.

3.4. Dimensionality Reduction Using Principal Component Analysis

As a second level of comparison, we extracted features using linear PCA to provide a baseline for the performance of linear dimensionality reduction algorithms for our ML models. The same reduced dimensionality of 500 was used. In addition, we used KPCA with an RBF kernel to extract features that by default are of the same dimension as the number of training input samples. For both PCA and KPCA we used an implementation in the scikit-learn package.³⁹

4. Results and Discussion

4.1. Classification Learning

In order to evaluate the effectiveness of our autoencoder-extracted features, we used two different supervised learning models to classify cancer samples from healthy control samples. First, we considered a single-layer ANN with input nodes directly connected to output layers without any hidden units. If we consider the input units as $X = (x_1, x_2, ..., x_n)$, the output values are calculated as $y = \sigma(\sum_i w_i x_i + b)$. Second, we considered both an SVM with a linear kernel and with a radial basis function kernel (SVM-RBF). We applied 5-fold cross-validation for to exhaustively split the data into train and test sets to estimate the accuracy of each model without overfitting. In each split, the model was trained on 4 partitions and tested on the 5th, ensuring that training and testing are performed on non-overlapping subsets.

5. Comparison of Different Models

To assess the effectiveness of the SDAE features, we compared their performance in classification to differentially expressed genes and to principal components for different machine learning models. The performance of the SDAE features for classification is summarized in Table 1. The best method varies depending on the performance metric, but on these data the SDAE features performed best on three of the five metrics we considered. The highest accuracy was attained using SDAE features applied to SVM-RBF classification. This method also had the highest F-measure. The highest sensitivity was found for SDAE features as well, but using the ANN classification model. KPCA features applied to an SVM-RBF had higher specificity and precision.

Features	Model	Accuracy	Sensitivity	Specificity	Precision	F-measure
	ANN	96.95	98.73	95.29	95.42	0.970
SDAE	SVM	98.04	97.21	99.11	99.17	0.981
	SVM-RBF	98.26	97.61	99.11	99.17	0.983
	ANN	63.04	60.56	70.76	84.58	0.704
DIFFEXP500	SVM	57.83	64.06	46.43	70.42	0.618
	SVM-RBF	77.391	86.69	71.29	67.08	0.755
	ANN	59.93	59.93	69.95	84.58	0.701
DIFFEXP0.05	SVM	68.70	82.73	57.5	65.04	0.637
	SVM-RBF	76.96	87.56	70.48	65.42	0.747
	ANN	96.52	98.38	95.10	95.00	0.965
PCA	SVM	96.30	94.58	98.61	98.75	0.965
	SVM-RBF	89.13	83.31	99.47	99.58	0.906
	ANN	97.39	96.02	99.10	99.17	0.975
KPCA	SVM	97.17	96.38	98.20	98.33	0.973
	SVM-RBF	97.32	89.92	99.52	99.58	0.943

Table 1. Comparison of different feature sets using three classification learning models.

6. Deep Feature Extraction and Deeply Connected Genes

Going beyond classification, there is potential biological significance in understanding what subsets of genes are involved in the new feature space that makes it an effective set for the cancer detection. Previous work on cancer detection using a single-layer autoencoder has evaluated the importance of each hidden node.¹⁶ Here, we analyzed the importance of genes by considering combined effect of each stack of the deep architecture. To extract these genes, we utilized a strategy of computing the product of the weight matrices for each layer of our SDAE. The result is a $500 \times G$ dimensional matrix W, where G is the number of genes in the expression data, computed for an n-layer SDAE by



Fig. 3. Histogram of z-Scores from the dot product matrix of the weights connectivity of the SDAE.

$$W = \prod_{i=1}^{n} W_i.$$

Although the weights of each layer of the SDAE are computed with a nonlinear model, the matrix W is a linearization of the compounded effect of each gene on the SDAE features. Genes with the largest weights in W are the most strongly connected to the extracted and highly predictive features, so we called these genes DCGs. We found that the terms of matrix W were strongly normally distributed (Fig 3). We identified the subset of genes with the most statistically significant impact on the encoding by fitting the distribution of these values in W to a normal distribution, computing a p-value using this fit, and applying a BH correction with an FDR of 0.05.

6.1. Gene Ontology

We examined the functional enrichment of the DCGs through a GO term and Panther pathway analysis. Table 2 presents the statistically-enriched GO terms under "biological process", and having a Bonferroni-corrected p-value of less than 1e-10. Many of the most significant terms are related to mitosis, suggesting a large number of genes with core functionality that is relevant to cell proliferation. In addition, an analysis of the enrichment of Panther pathways led to a single enriched term, p53 pathway, where we observe 10 genes when 1.34 are expected, giving a p-value of 2.21E-04. P53 is known to be an important tumor-suppressor gene^{40–42}, and this finding suggests a role of tumor suppressor function in many of the DCGs.

6.2. Classification Learning

Finally, we used the expression of the DCGs as features for the ML models previously mentioned. These genes served as useful features for cancer classification, achieving 94.78% accuracy (Table 3). Although these features performed a few percentage points below that of the

GO biological process	Total	Observed	Expected	Enrichment	P-value
cell cycle process (GO:0022402)	1079	100	16.46	6.07	1.12E-45
cell cycle (GO:0007049)	1311	108	20	5.4	3.28E-45
mitotic cell cycle process (GO:1903047)	741	85	11.31	7.52	1.06E-44
mitotic cell cycle (GO:0000278)	760	85	11.6	7.33	7.33E-44
nuclear division (GO:0000280)	470	63	7.17	8.78	1.52E-35
organelle fission (GO:0048285)	492	64	7.51	8.53	1.99E-35
mitotic nuclear division (GO:0007067)	357	56	5.45	10.28	1.34E-34
cell division (GO:0051301)	477	58	7.28	7.97	3.72E-30
chromosome segregation (GO:0007059)	274	46	4.18	11	5.46E-29
sister chromatid segregation (GO:0000819)	176	36	2.69	13.41	7.62 E- 25
nuclear chromosome segregation (GO:0098813)	230	38	3.51	10.83	3.97E-23
mitotic cell cycle phase transition (GO:0044772)	249	35	3.8	9.21	8.10E-19
mitotic prometaphase (GO:0000236)	99	25	1.51	16.55	1.56E-18
cell cycle phase transition (GO:0044770)	255	35	3.89	9	1.72E-18
regulation of cell cycle (GO:0051726)	943	62	14.39	4.31	2.48E-18
chromosome organization (GO:0051276)	984	63	15.01	4.2	4.15E-18
DNA metabolic process (GO:0006259)	768	52	11.72	4.44	$2.67 \text{E}{-}15$
organelle organization (GO:0006996)	3133	112	47.8	2.34	4.27E-15
mitotic cell cycle phase (GO:0098763)	211	29	3.22	9.01	$7.67 \text{E}{-}15$
cell cycle phase (GO:0022403)	211	29	3.22	9.01	$7.67 \text{E}{-}15$
biological phase (GO:0044848)	215	29	3.28	8.84	1.25E-14
sister chromatid cohesion (GO:0007062)	113	22	1.72	12.76	1.18E-13
cellular resp. to DNA damage stimu. (GO:0006974)	719	48	10.97	4.38	1.27E-13
regulation of cell cycle process (GO:0010564)	557	42	8.5	4.94	2.53E-13
mitotic sister chromatid segregation (GO:0000070)	90	20	1.37	14.56	3.01E-13
cell cycle checkpoint (GO:0000075)	196	25	2.99	8.36	1.09E-11
M phase (GO:0000279)	173	23	2.64	8.71	6.55E-11
mitotic M phase (GO:000087)	173	23	2.64	8.71	6.55E-11
regulation of mitotic cell cycle (GO:0007346)	461	35	7.03	4.98	1.10E-10
single-organism process (GO:0044699)	12451	253	189.98	1.33	$4.67 \text{E}{-}10$
DNA replication (GO:0006260)	213	24	3.25	7.38	$5.74 \text{E}{-}10$
anaphase (GO:0051322)	154	21	2.35	8.94	6.13E-10
mitotic anaphase (GO:0000090)	154	21	2.35	8.94	6.13E-10
cellular component organization (GO:0016043)	5133	139	78.32	1.77	7.74E-10

Table 2. Enriched GO terms associated with DCGs in breast cancer data from TCGA.

_

SDAE features, they still have advantage of being more readily interpreted. Future work is needed to improve the extraction of DCGs to enhance their utility as features for classification.

Table 3.	Cancer	classification	results	using	deeply	connected	genes	(DCGs	;).
----------	--------	----------------	---------	-------	--------	-----------	-------	-------	-----

Features	Model	Accuracy	Sensitivity	Specificity	Precision	F-measure
	ANN	91.74	98.13	87.15	85.83	0.913
DCGs	SVM	91.74	88.80	97.50	97.25	0.927
	SVM-RBF	94.78	93.04	97.5	97.20	0.951

6.3. Conclusion

In conclusion, we have used a deep architecture, SDAE, for the extraction of meaningful features from gene expression data that enable the classification of cancer cells. We were able to use the weights of this model to extract genes that were also useful for cancer prediction, and have potential as biomarkers or therapeutic targets.

One limitation of deep learning approaches is the requirement for large data sets, which may not be available for cancer tissues. We expect that as more gene expression data becomes available, this model will improve in performance and reveal more useful patterns. Accordingly, deep learning models are highly scalable to large input data.

Future work is needed to analyze different types of cancer to identify cancer-specific biomarkers. In addition, there is potential to identify cross-cancer biomarkers through the analysis of aggregated heterogeneous cancer data.

References

- E. Kettunen, S. Anttila, J. K. Seppänen, A. Karjalainen, H. Edgren, I. Lindström, R. Salovaara, A.-M. Nissén, J. Salo, K. Mattson *et al.*, *Cancer genetics and cytogenetics* 149, 98 (2004).
- 2. C. G. A. R. Network et al., Nature 499, 43 (2013).
- J. Xu, J. A. Stolk, X. Zhang, S. J. Silva, R. L. Houghton, M. Matsumura, T. S. Vedvick, K. B. Leslie, R. Badaro and S. G. Reed, *Cancer research* 60, 1677 (2000).
- H. Li, B. Yu, J. Li, L. Su, M. Yan, J. Zhang, C. Li, Z. Zhu and B. Liu, *PloS one* 10, p. e0125013 (2015).
- 5. T. Zhou, Y. Du and T. Wei, Biophysics Reports 1, 106 (2015).
- J. S. Myers, A. K. von Lersner, C. J. Robbins and Q.-X. A. Sang, *PloS one* 10, p. e0145322 (2015).
- M. Maienschein-Cline, J. Zhou, K. P. White, R. Sciammas and A. R. Dinner, *Bioinformatics* 28, 206 (2012).
- E. E. Schadt, J. Lamb, X. Yang, J. Zhu, S. Edwards, D. GuhaThakurta, S. K. Sieberts, S. Monks, M. Reitman, C. Zhang *et al.*, *Nature genetics* **37**, 710 (2005).
- 9. K. Shabana, K. A. Nazeer, M. Pradhan and M. Palakal, BMC bioinformatics 16, p. 1 (2015).
- S. Reddy, K. T. Reddy, V. V. Kumari and K. V. Varma, International Journal of Computer Science and Information Technologies 5, 5901 (2014).
- T. S. Furey, N. Cristianini, N. Duffy, D. W. Bednarski, M. Schummer and D. Haussler, *Bioin-formatics* 16, 906 (2000).
- S. A. Medjahed, T. A. Saadi and A. Benyettou, International Journal of Computer Applications 62 (2013).
- 13. A. C. Tan and D. Gilbert (2003).
- 14. J. A. Cruz and D. S. Wishart, *Cancer informatics* 2 (2006).
- K. Kourou, T. P. Exarchos, K. P. Exarchos, M. V. Karamouzis and D. I. Fotiadis, Computational and structural biotechnology journal 13, 8 (2015).
- 16. C. C. e. a. Tan J, Ung M, Unsupervised feature construction and knowledge extraction from genome-wide assays of breast cancer with denoising autoencoders (2015).
- 17. H. Lee, R. Grosse, R. Ranganath and A. Y. Ng, Convolutional deep belief networks for scalable unsupervised learning of hierarchical representations, in *Proceedings of the 26th Annual International Conference on Machine Learning*, 2009.
- P. Vincent, H. Larochelle, I. Lajoie, Y. Bengio and P.-A. Manzagol, The Journal of Machine Learning Research 11, 3371 (2010).

- T. R. Golub, D. K. Slonim, P. Tamayo, C. Huard, M. Gaasenbeek, J. P. Mesirov, H. Coller, M. L. Loh, J. R. Downing, M. A. Caligiuri *et al.*, *science* 286, 531 (1999).
- U. Alon, N. Barkai, D. A. Notterman, K. Gish, S. Ybarra, D. Mack and A. J. Levine, Proceedings of the National Academy of Sciences 96, 6745 (1999).
- 21. J. Li, H. Liu, S.-K. Ng and L. Wong, *Bioinformatics* 19, ii93 (2003).
- 22. K. Y. Yeung and W. L. Ruzzo, *Bioinformatics* 17, 763 (2001).
- S. Wold, K. Esbensen and P. Geladi, Chemometrics and intelligent laboratory systems 2, 37 (1987).
- A. Gupta, H. Wang and M. Ganapathiraju, Learning structure in gene expression data using deep architectures, with an application to gene clustering, in *Bioinformatics and Biomedicine* (BIBM), 2015 IEEE International Conference on, 2015.
- B. Schölkopf, A. Smola and K.-R. Müller, Kernel principal component analysis, in *International Conference on Artificial Neural Networks*, 1997.
- 26. R. Fakoor, F. Ladhak, A. Nazi and M. Huber, Using deep learning to enhance cancer diagnosis and classification, in *Proceedings of the ICML Workshop on the Role of Machine Learning in Transforming Healthcare. Atlanta, Georgia: JMLR: W&CP*, 2013.
- Y. Bengio, P. Lamblin, D. Popovici, H. Larochelle et al., Advances in neural information processing systems 19, p. 153 (2007).
- 28. G. E. Hinton and R. R. Salakhutdinov, Science 313, 504 (2006).
- S.-C. Wang, Artificial neural network, in *Interdisciplinary Computing in Java Programming*, (Springer, 2003) pp. 81–100.
- 30. C. Cortes and V. Vapnik, *Machine learning* **20**, 273 (1995).
- 31. J. N. Weinstein, E. A. Collisson, G. B. Mills, K. R. M. Shaw, B. A. Ozenberger, K. Ellrott, I. Shmulevich, C. Sander, J. M. Stuart, C. G. A. R. Network *et al.*, *Nature genetics* 45, 1113 (2013).
- N. V. Chawla, K. W. Bowyer, L. O. Hall and W. P. Kegelmeyer, *Journal of artificial intelligence research* 16, 321 (2002).
- 33. G. Lemaître, F. Nogueira and C. K. Aridas, CoRR abs/1609.06570 (2016).
- 34. D. Saad, Online Learning.
- 35. O. Bousquet and L. Bottou, The tradeoffs of large scale learning, in Advances in neural information processing systems, 2008.
- 36. F. Chollet, Keras https://github.com/fchollet/keras, (2015).
- N. Srivastava, G. Hinton, A. Krizhevsky, I. Sutskever and R. Salakhutdinov, *The Journal of Machine Learning Research* 15, 1929 (2014).
- Y. Benjamini and Y. Hochberg, Journal of the royal statistical society. Series B (Methodological) , 289 (1995).
- F. Pedregosa, G. Varoquaux, A. Gramfort, V. Michel, B. Thirion, O. Grisel, M. Blondel, P. Prettenhofer, R. Weiss, V. Dubourg, J. Vanderplas, A. Passos, D. Cournapeau, M. Brucher, M. Perrot and E. Duchesnay, *Journal of Machine Learning Research* 12, 2825 (2011).
- G. Matlashewski, P. Lamb, D. Pim, J. Peacock, L. Crawford and S. Benchimol, *The EMBO journal* 3, p. 3257 (1984).
- 41. M. Isobe, B. Emanuel, D. Givol, M. Oren and C. M. Croce (1986).
- S. E. Kern, K. W. Kinzler, A. Bruskin, D. Jarosz, P. Friedman, C. Prives and B. Vogelstein, Science 252, 1708 (1991).